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#ConvinceMeThat

https://docs.google.com/presentation/d/1_kMfjsrEGWtNbWT-nwrzbfe5WB3C_u6vo3PvFquZA5I/view
https://twitter.com/search?f=tweets&vertical=default&q=%23convincemethat&src=typd


Notes...
- Giving students the answer allows them to focus on 

different aspects of the problem (how, why, process, …)
- For more sophisticated equations use either CodeCogs or 

Equatio.
- CodeCogs Settings: 

- Don’t forget to include the grade-level on your slide.
- Click here for graphs, clocks, money, number lines…
- Use   to indicate grade level.

http://codecogs.com/latex/eqneditor.php
https://chrome.google.com/webstore/detail/equatio-math-made-digital/hjngolefdpdnooamgdldlkjgmdcmcjnc
https://sites.google.com/view/scmath/resources/charts-tables-and-graphs


PRINTABLE TEMPLATE 
(Link)

https://docs.google.com/document/d/1ghvJktZPGRHjmIEhvSBPRDRVC6SqoGWpneD1klhMq5c/edit


Convince me that...

 

TEMPLATE

DUP
LICA

TE



Convince me that...



3+5=8



Convince me that...



1 ten is the same as 10 ones.



Convince me that...



all squares are rectangles but not all 
rectangles are squares.



Convince me that...



12−6=6



Convince me that...



two weeks is greater than 10 days.



Convince me that...



a triangle has 3 vertices.



Convince me that...



a rectangle has 4 vertices and 4 edges.



Convince me that...



8 is greater than 7.



Convince me that...



4 can be greater than 5.



Convince me that...



8=8



Convince me that...



three weeks is greater than 20 days.



Convince me that...



2 hundreds 9 tens and 10 ones equals 300



Convince me that...



23-9=14



Convince me that...



113 is less than 13 tens



Convince me that...



5×4=20



Convince me that...



 6 x 2 is the same as 2 x 6.



Convince me that...



38÷4≠9



Convince me that...





Convince me that...





Convince me that...



the perimeter of the shape below is 14 units.
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Convince me that...



the area of the shape below is 9 square units.



Convince me that...



the areas of the rectangles below are different 
but the perimeters are the same.



Convince me that...



3/4 is not always greater than 1/2



Convince me that...



1/4 is not always equivalent to 2/8.



Convince me that...



a square is a parallelogram, a rectangle and a 
rhombus.



Convince me that...



there is a difference between:

A. Maddie and Alex baked 48 cookies for the bake
sale and packaged them in groups of 8 per bag.
How many bags did they pack?

B. If 48 cookies are divided equally among 8 
students, how many cookies will each student 
receive?



Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...



the product of two odd numbers will always be
odd.



Convince me that...



a number with fewer digits can be larger than 
a number with more digits.



Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...



the product of an odd and even number will 
always be even.



Convince me that...



the product of two even numbers will always 
be even.



Convince me that...



1/2 of a pizza is equivalent to 4/8 of pizza.



Convince me that...





Convince me that...



2/3 of a sandwich is equivalent to 4/6 of 
sandwich.



Convince me that...



the shaded regions below are equivalent.



Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...



we don't need to convert to "improper" 
fractions in order to multiply mixed numbers.



Convince me that...



if we increase the 3 the sum will decrease. 



Convince me that...



a trapezoid is not a parallelogram.



Convince me that...



a circle is not a polygon.



Convince me that...



a square is a rhombus and a rectangle.



Convince me that...



a rectangle is a parallelogram, but a 
parallelogram doesn’t have to be a rectangle.



Convince me that...



mode can be a better measure of central 
tendency than mean or median. 



Convince me that...



you can use the distributive property to find 
the total cost of $20 t-shirt with 6% sales tax.



Convince me that...





Convince me that...





Convince me that...





Convince me that...



5−7=−2



Convince me that...



cereal box B is 
the better buy.

A B



Convince me that...



4πr2 makes sense in relationship to finding the
surface area of a sphere.



Convince me that...



25% of 40 is the same at 50% of 20.



Convince me that...

-5+3=-2





Convince me that...



π ≈ 3.14



Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...



the √(25) is 5. 



Convince me that...



the √(17) isn’t 4. 



Convince me that...





Convince me that...



the 50th term in the pattern below is 152.

2, 5, 8, 11, 14, ...



Convince me that...





Convince me that...





Convince me that...





Convince me that...

 �������

The intersecting point of any two graphs 
(equations) is a solution to all the equations.



Convince me that...



there is a value for x that makes this true



Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...



the area of a circle is related to the area of a 
rectangle.



Convince me that...



you cannot make a triangle with any three side
lengths.



Convince me that...



the side lengths 3,7, and 9 do not make the 
sides of a right triangle



Convince me that...



the point (0,34) is a solution to the inequality 
y>531x+33.



Convince me that...



having the dependent variable on the y-axis of 
a scatter plot is different than having it on the 
x-axis. 



Convince me that...



drawing a line of best fit by splitting the points 
in half (half above, half below) is not the best 
method. 



Convince me that...



x=-½ is a solution to the equation 2x+4=3.



Convince me that...



(4,1) is a solution to the system of inequalities 
below.



Convince me that...



(1,2) is a solution to one, but not both of the 
inequalities below.



Convince me that...



An irrational number times an irrational 
number is not always irrational.



Convince me that...

 

x2 + 2x +1 = (x + 1) (x + 1)



Convince me that...

The line that passes through (-1, 4) and (2, 7) is 
parallel to the line 

 



Convince me that...



the functions are inverses.



Convince me that...



the functions are inverses.



Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...





Convince me that...



The output of the following code segment is “Over 3”.


